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“documentclass{beamer}

I main.tex

‘usepackage[utT&]{inputenc}

ERJP‘S \_usethenle{m}

wusepackage{xcolor}
usepackageigraphicx}
titTe{ASSIGNMENT - 2}
Yinstitutef Jarge{ textcolor{green}{Mata Sundri College for Womenl} ‘‘\‘textcolor{blue}{University of Delhi}}
\authcur{"-.La.rge{"-xte:-ctcn'lor{red}{AﬁEENF}\Mq?"-,%m'Im'{or‘ange}{Ru'l1 no : MAT/20/123% ‘and O\ textcolor{yvellow}{University Roll no : 20044563044} 17
\date{} S—
“begin{document}
“begini{frame}
“titlepage
wend{frame}
“begin{frame}{Content of Page 69}
l.Let x= 5(x_1,%1dots,x_n)5, where the 5x_i5 are non-negative real numbers. “\Set S$PM_r()=\left(\Ffracix_1Ar+x_2Ar+cdots+x_nrr}in}iright)Afl/r}, r
“in R ‘backsTlash 3%{0'}, %% and $3M_O0()={x_1Ix_2\1dots x_n)A{1/n}. %%
We call SM_r(x}% ‘“emph{rth power mean of x.} %\ ‘wspace{0.2in}
Claim : SS"-._11'.11,_1'_r'-.,r1'ghtﬂaf!'vr:cw 0} M_r(x)=M_0(x3). %5
wend{frame}
“begin{frame}{Content of Page &9}

v File outline 25 Debie

s¥v_n=\left[\begin{array}{ccccc}

181818 Tdots&l) ) iy

We can't find any w18 2&x_3&\Tdots& n\
sections or subsections ' ®_1AZ&x 2A28&x_3AZENldots&x_nA2hY,
in this file. ywdots&\vdots&\ vdots&\ddots&\ vdotsi}
Find out more about the w_ 1A n-1} & _ZAIn-1}8&x_3A{n-1}&% Tdots&x_nM{n-1}
files on it T wend{array}\right]$$
We call £V_ni the ‘emph{vandermonde matrix} of order
Claim S
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$i\det V_p=

prod_{i\leg 1<3%Teg nl{x_J7-x_1).3%

wend{frame}
» “begin{frame}{Q4.Make the following equations}

v “begin{itemi ze}
Witem $53A3+4A3+5M3=61355

S item
Yitem
“item
Y item

$5\sqrt{100}=105%
$5(a+b)A3=ar3+3a2b+3abN2+bA3ES
$8\sumiin}_fk=1} k=\Ffracin{n+1)}{2}3%5

i\ Fracf\pi}{4}i="Ffracf{1}{1}-"frac{i}{3}+ \ Frac{1}{5}-"Frac{1}{7}+"

wend{itemize}

wend{frame}

13

= “begin{frame}{Remaining parts of Q4}

+ \begin{itemize}

S item
Yitem
Stem
“item
item

i\ costtheta=\sin{90n{circ} -“theta)ss

{fer{i thetal="cos'theta + i'sin‘thetass

L\ Tim_{‘theta \rightarrow 0} ‘\frac{‘sin\theta}{\thetal=15%
S8 1im_{x ‘“rightarrow ‘infty} ‘FracDiypi (x)3{x " Jog x}=15%
s$hintAl\infty} {-\infty} eAl-xA2} dx=\sart{\pi}ss

wendf1temizel}

wendf{frame}

= “beginiframe}{Q5.Tyvpeszet the following sentences.}

= “begin{itemize}

“item Positive numbers a,b, and c are the side lengths of a triangle if

“item The area of a triangle with si1de Tengths

§3a= ‘=sgrtfis(s-a)(s-b)(s-c)}is""\

where

“item The wolume of a regular tetrahedron of edge length 1 1z S=grtizl}l/

, wemphi{s} 15 the zemi-perimeter “emph{{a+b+c)/2}.

Yend{i1temizel}

vend{frame

1

i

o = B= €O

‘emphi{a,b,c} 1z given by

%8 share @ Submit

{ATFB Review

fracf1}{9}-\frac{i}{11}+ \cdotsii

and only if %a+b = c,b+c =af, and fc+a =hs.

wemphi{Heron's formula 7}

125.

“item The quadratic equation %ax"2 + bx + ¢ = 05 has roots'), 5%r_1,r_2=\frac{-b ‘pm\sqrti{bA2-4ac}}{za}is

11:10
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61 » “begin{frame}{Remaining parts of Q5}

62
63
64

63
131
67

e D B ST R R I e
[ I - ¥ B ey (R

[f=}

-

-

- “begin{frame}{Remaining parts of Q&}

wend{frame}

“begin{itemize}

“item The ‘emph{derivative} of a Tunction ‘emph{f}

(5 PRESENTATICN - ASSIGNMENT- X

for all ‘emph{ix,¥} 3in% “emph{I} and 30 " leg’lambda’leglt.

“item The general solution to the differential eguation

S8y -3y " +2y=05%
is $fy=C_1 erx+{_2 er{Zx}is

“item The ‘emphi{Fermat numberl SF_n$% is defined as

S4F_n=2n{2/n}, n\gegOss

“end{itemizel}
Yend{frame}
+» ‘“heginiframe}{Q6. Make the Tollowing equations. Notice the large delimiters.}

vbeginf{itemizel

+

, denoted §F'% , is defined by
“item A real- valued Tunction ‘emph{f} 1is ‘emph{convex} on interval ‘emph{I} i\ SiF(\lambda x+{1-‘Tambda)y)'leg’lambda (x)+(1-"Tambdalf({v1i5,

Vtem $3\frac{d}{dx}\left(\Fracix}{x+1}\right)=\Ffracf{1l{(x+1)M2]}E3
Yitem $5\1im_{n\rightarrow Ninfty}\left QA+ \frac{i}{n} right)An=e53

“item $£5 Yeft|\begin{array}{icc}

a&hb’,
c&d end{array}'right |=ad-bc %%

Yitem $3R_\theta =\left[‘\begin{array}icc}

coshtheta&-"sin\theta\’,
‘sintheta&\cos'\theta

‘end{array}\right]53

“end{1temizel}

Yend{frame}

- “begin{itemize}

Satem $% \left[\begin{array}{ccc}

“textbhf{i}&\textbf{jl& textbf k),

a_1&a 2&a 34\

i

0]

Baeo
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b_1&b_ 2&b 3

vend{array}'\right |=\1eft|\begin{array}{cc}

= R.jpg a_2&a_ 34\

b_2&b_3\end{array} \right|\textbhf{i1}-"Teft |\ begin{array}{cc}
a_1&a 3N

b_1&b_3\end{array}\right|\textbf {7}+\1eft|\begin{arrayi{cc}
a_1&a_ 2\

b_1&b_2\end{array}iright|'textbf{k}ss

Witem S8\ left[Nbeginf{array}{iccl

a {11}&a {121\

a_{21t&a_{22}\end{array}’right]’left[begin{arrayvi{icc}

b_{11}&h_f12}\\

b_{21}&b_{22}\end{array}irightl=\left[\begin{array}{ir}
a_{ll}b_{ll}+a_{12}b_{21}&a_{ll}b_{12}+a_{12}b_{22}iqﬁ

a {21}b_{11}+a {22}b_{21}&a {21}b {12}+a {22}b {22}\end{array}\right]ss
WAtem $EFOO0=\left" {\beginfarray}{lc}i-xZ & x<0'"

xh2,& D\leg x\Teq 244 i

I main.tex

4, 8&x =2 end{array}\right. $%
wend{itemizel}
‘end{frame}
» File outline “begin{frame}{Q7. Make the following multi-Tine equations.}
“begini{egnarray=}

1+2&=&3"",
We can't find any AT BR=ETAE

sections or subsections { 9+410+11+128=813+14+15\\
in this file. 16+17+16+19+208=021+22+23+24",
Find out more about the 25+26+27+28+25+308=831+32+33+34+35
file outline ‘\end{eqnarray*}
wend{frame}
“begin{framel{7.2}

Sheoinfeanarrav=t
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120~
121
122
123

133
134
135
136
137 -
138 -
139
140
141
142
143
144
145 «
146 ~
147
148

“begin{egnarray*}
(a+b)r2&=&(a+b) (a+h)
&=&(a+b)a+{a+b)b""
&=&a(a+b)+bla+b)" "
&=&ar2+ab+ba+tbn2)
&=&aﬁ2—ab+;E+bﬁZZK
&=&afr2+2ab+bA2
“end{egnarray=}
wend{frame}
“bhegin{framel}{7.3}
“begin{eqnarray=}
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“tan(halpha+'betat+' gamma)&=&\frac{‘tan("alpha+'\beta)="tan'gamma}{l-‘tan(*alpha+'beta)' tan'.gammal}"’

9 History
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&=&\frac{frac{'tan'alpha+'tan'betal{l-‘tan'alpha’tan'beta}+"tan' gamma}il-"left( Ffrac{'tan'alpha+'tan'beta}{l-"tan'alpha‘tan'betal’right)'\tan"gamma}

&=&'\frac{‘tan‘alpha+'tan’heta+(1-"tan‘alpha‘tan'beta)  tan'gammal{l1-“tanalpha'tan'beta-tan'alpha+'tan'beta)’ tan' gammal’’,

&=&'Trac{tan‘alpha+'tan’beta+ tan’gamma-"tan’alpha’tan’beta’tan'gamma}{1-"tan"alpha'tan'beta-‘tan'alpha'tan’gamma-"tan' beta"tan' gammal

wendf{eqgnarray®}
end{frame}
“begin{frame}{7.4}

“bheginfegnarray=7}

wprod_phleft(1-\Frac{i}{pr2}'right)&=& \prod_p‘frac{l}{l+ \fracfil{pr2}+\Fracil}iprd}+\cdotsT")

&=&\Teft(\prod_p\left(1+\fracfli}{prz}+ Frac{l}{prd}+  cdotsiright) \rightd)A{-13} %
&=&\Teft(l+ \fracf{i}izi2l+ \Ffracfi}{3A2}+ \ Fracii}f4a2l+\cdots \right)A{-13%"

&=&\frac{6}{ \ pinz}

wendfeqgnarray®}

wend{frame}

“begin{framel

“begin{center}
“includegraphics[scale=0.22]1{R.jpg}
wendf{center}

wend{frame}
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&=&a(a+b)+b(a+rb)\\
&=&ai2+ab+ba+hi2
&=&ah2—ah+;E+bﬂ233
&=&ah2+2ab+bh2
‘end{egnarray=}
wend{frame}
“begin{framel}{7. 3}
\begin{egnarray=}
tan(*alpha+'beta+' gamma)&=&"Trac{ tan(\alpha+'beta)="tan"gamma}{1-tan("alpha+'beta) tan gammal"’,
&=&\Trac{ frac{‘tan'alphat+'tanbetal{i-‘tan‘alpha’tan’betal+ tan‘gammal{1-left "frac{ tan‘alpha+'tan‘beta}{l1-‘tan‘alpha'tan’betalright)’tan’gamma}

&=&\frac{‘tan‘alpha+'tan'heta+{1-"tan‘alpha‘'tan'beta)’tan’gamma}{l-"tan"alpha'tanibeta- " tan\alpha+'tan'beta)’ tan’ gammal’,
&=&\frac{'tan'alpha+'tan'betat+' tan' gamma-"tan'alpha’tan'beta‘tan' gammal{1-tan'alpha\tan'beta-"tan‘alpha'tan’gamwma-"tan'beta'\tan' gammal}
wendfeqgnarray=}

wend{frame}

“begin{framel}{7.4}

“begin{eqnarray=}

“prod_pileft(1-‘\fracf{l}{pr2} right)&=&\prod_p'frac{l}{i+ \frac{il}{pr2}+ Frac{i}ipral+icdots}"’
&=&\left(\prod_p'left(1+' Ffrac{1}{pr2}+ \Frac{i}{pral+\cdots’ right)yrightdaf-111"%

&=&\left(1+ \frac{1i{zrA2}+ \ Fracfi}{3r2+ \Frac{i}{4r21+ \cdots rightin{-13%"

&=&\Trac{6}{\pinZ}

wendf{eqgnarray=}

end{frame}

“hegin{framel}

“beginfcenter}

“ancludegraphics[scale=0.22]{R. 1pgl}

wend{center}

“end{frame}

Yend{document}
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